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Chapter 15
PARTNERSHIPS — FORMATION, OPERATIONS, AND

CHANGES IN OWNERSHIP INTERESTS

Answers to Questions
1
Noncash investments of partners should be recorded at their fair values in order to provide equitable treatment to the individual partners. The recording of noncash assets at less than fair value will result in allocating the amount of understatement between the partners in their relative profit and loss sharing ratios as the undervalued assets are used for partnership business or when they are sold by the partnership.

2
Conceptually, there is no difference between the drawings and the withdrawals of partners since both represent disinvestments of resources from the partnership entity. From a practical viewpoint, the distinction between withdrawals and drawings may be important because allowable drawings are not usually deducted in determining the amount of partnership capital to be used for purposes of dividing profits among the partners. Since withdrawals are deducted, the distinction can affect the division of profits and losses.

3
In the absence of an agreement for dividing profits, an equal division among the partners is required by the Uniform Partnership Act. The agreement also applies to losses. And it applies irrespective of the relative investments by the partners.

4
Salary and interest allowances are included in some partnership agreements in order to reward partners for the time and effort that they devote to partnership business (salary allowances) and for capital investments (interest allowances) that they make in the business.

5
Salary allowances to partners are not expenses of a partnership. Rather, they are a means of recognizing the efforts of individual partners in the division of partnership income.

6
When profits are divided in the ratio of capital balances, capital balances should be computed on the basis of weighted average capital balances in the absence of evidence that another interpretation of capital balances is intended by the partners.

7
An individual partner may have a loss from his share of partnership operating activities even though the partnership has income. This situation results if priority allocations to other partners exceed partnership net income. For example, if net income for the A and B Partnership is $5,000 and profits are divided equally after a salary allowance of $8,000 to A, A will have partnership income of $6,500 and B will have a partnership loss of $1,500.

8
Partnership dissolution under the Uniform Partnership Act is the change in the relation of the partners caused by any partner ceasing to be associated in the carrying on of the business, as distinguished from the winding up of the business. Thus, the assignment of a partnership interest to a third party by one of the partners does not, by itself, dissolve the partnership because the assignee does not become a partner unless accepted as a partner by the continuing partners.

9
The sale of a partnership interest to a third party dissolves the old partnership if the continuing partners accept the third party purchaser as their partner. In this case, the relation among the partners is changed and a new partnership agreement is necessary.

10
A partnership is both a legal entity and a business entity. The partnership as a legal entity is dissolved by the death or retirement of a partner as provided by the Uniform Partnership Act. But the partnership as a business entity continues until the business entity is liquidated, irrespective of the changes in the interests held by individual partners.

11
When a new partner acquires an interest by purchase from existing partners, the partnership receives no new assets because the payment for the new partner’s interest is distributed to the old partners. Alternatively, an investment in a partnership increases the net assets of the partnership. This difference is important in accounting for the admission of a new partner.

12
The admission of a new partner may be recorded by the goodwill approach (or revaluation approach) or by the bonus approach (or nonrevaluation approach).

13
The goodwill procedure for recording the admission of a new partner is best described as a revaluation approach because identifiable assets and liabilities that are over or undervalued are adjusted to their fair values before the unidentifiable asset goodwill is recorded. For example, if a new partner’s investment reflects the fact that land owned by the old partnership is undervalued, it would be misleading to record the amount of revaluation as goodwill, rather than as a revaluation of the land account.

14
A bonus procedure for recording an investment in a partnership involves adjusting the partnership capital account to the extent necessary to meet the new partnership agreement without a revaluation of the assets and liabilities of the old partnership.



If a new partner receives a capital credit in excess of his or her investment, the excess is a bonus to the new partner. A bonus to a new partner is charged against the old partners’ capital balances in relation to their old profit sharing ratios.



If a new partner’s investment exceeds his or her capital credit, the excess is a bonus to the old partners. A bonus to the old partners is credited to the old partners’ capital balances in accordance with the old partners’ profit sharing ratios.

15
The amounts received by the individual partners in final liquidation will be the same under the bonus and goodwill procedures provided that the relative profit and loss sharing ratios of the old partners remain unchanged in the new partnership and that the new partners’ capital interest and profit and loss sharing ratio are aligned.

16
Parts a and b assume that the partnership assets are to be revalued upon the admission of Bob into the partnership.


Goodwill would be recorded if identifiable assets and liabilities are equal to their fair values and

1.
$10,000 SYMBOL 184 \f "Symbol" 25% > $10,000 + old capital; or
2.
Old capital SYMBOL 184 \f "Symbol" 75% > $10,000 + old capital; or
3.
An independent assessment of earning power or other factors indicate goodwill.


Old partnership assets would be written down if

1.
$10,000 SYMBOL 184 \f "Symbol" 25% < $10,000 + old capital; or
2.
Old capital SYMBOL 184 \f "Symbol" 75% < $10,000 + old capital; or
3.
An independent assessment of earning power or other factors indicate that partnership assets are overvalued.



Parts c and d assume that partnership assets are not to be revalued upon the admission of Bob into the partnership. A bonus to the old partners would be recorded if 25% SYMBOL 180 \f "Symbol" ($10,000 + old capital) is less than $10,000. A bonus to Bob would be recorded if 25% SYMBOL 180 \f "Symbol" ($10,000 + old capital) is greater than $10,000.

SOLUTIONS TO EXERCISES
Solution E15-1
If the partners’ contributions were erroneously recorded at cost rather than fair market value, the account balances would be:

	
	Cash
	$ 30,000

	
	Delivery equipment
	  40,000

	
	Furniture inventory
	  60,000

	
	
	$130,000

	
	Lamb capital
	$ 70,000

	
	Carson capital
	  60,000

	
	
	$130,000


Inequity is calculated as follows:

	
	 60% to
	 40% to
	

	
	 Carson
	  Lamb 
	  Total 

	Carson’s appreciation ($30,000)
	$18,000
	$12,000
	$ 30,000

	Lamb’s depreciation ($10,000)
	 (6,000)
	 (4,000)
	 (10,000)

	
	 12,000
	  8,000
	  20,000

	Actual appreciation
	 30,000
	(10,000)
	  20,000

	Inequity
	(18,000)
	 18,000
	       0


Solution E15-2
Computation of Beverly’s bonus:


Let B = bonus


    B = 10% SYMBOL 180 \f "Symbol" ($506,000 - B)


    B = $50,600 - .1B


 1.1B = $50,600


    B = $46,000

Schedule to Allocate Partnership Income

	
	
	 Arnold 
	 Beverly 
	 Carolyn 

	Net income to distribute
	$506,000
	
	
	

	Bonus to Beverly
	 (46,000)
	
	$ 46,000
	

	Remainder to divide
	 460,000
	
	
	

	Divided 40:40:20
	(460,000)
	$184,000
	 184,000
	$ 92,000

	Income allocation
	       0
	$184,000
	$230,000
	$ 92,000


Solution E15-3
Schedule to Allocate Partnership Income for 2006

	
	Balance
	 Cari 
	 Helen
	Brandie

	Income to distribute
	$14,000
	
	
	

	Salary allocation
	(21,000)
	$   ---
	$ 9,000
	$12,000

	Interest on capital*
	(26,000)
	 10,500
	  8,000
	  7,500

	Loss to divide
	(33,000)
	
	
	

	Divided equally
	 33,000
	(11,000)
	(11,000)
	(11,000)

	Income to partners
	      0
	$  (500)
	$ 6,000
	$ 8,500


*
Interest on average capital:

	
	
	January 1, 2006
	
	 Average
	Interest

	
	
	  Balances  
	
	 Capital 
	on Capital

	
	Cari
	$100,000
	SYMBOL 180 \f "Symbol" 1/2 year = 
	$ 50,000
	

	
	
	 120,000
	SYMBOL 180 \f "Symbol" 1/4 year =
	  30,000
	

	
	
	 100,000
	SYMBOL 180 \f "Symbol" 1/4 year =
	  25,000
	

	
	
	
	
	 105,000 SYMBOL 180 \f "Symbol" 10% =
	$10,500

	
	
	
	
	
	

	
	Helen
	$ 80,000
	SYMBOL 180 \f "Symbol" 1 year =
	$ 80,000 SYMBOL 180 \f "Symbol" 10% =
	  8,000

	
	
	
	
	
	

	
	Brandie
	$ 75,000
	SYMBOL 180 \f "Symbol" 1 year =
	$ 75,000 SYMBOL 180 \f "Symbol" 10% =
	  7,500

	
	
	
	
	
	$26,000


Solution E15-4
	
	
	Melanie
	 David 

	2007 income to divide 
	
	
	

	  ($25,000 - $4,000)
	$21,000
	
	

	Salary to Melanie
	(18,000)
	$18,000
	

	Remainder to divide
	  3,000
	
	

	Divided equally
	 (3,000)
	  1,500
	$ 1,500

	
	      0
	
	

	2006 income understatement
	$ 4,000
	
	

	Divided in the 2006 60:40 ratio
	 (4,000)
	  2,400
	  1,600

	Income allocation
	      0
	$21,900
	$ 3,100


Solution E15-5
Bird, Cage, and Dean Partnership
Statement of Partnership Capital

for the year ended December 31, 2006

	
	  Bird
	  Cage
	  Dean
	  Total

	
	 Capital 
	 Capital 
	 Capital 
	 Capital 

	
	
	
	
	

	Balance January 1
	$120,000
	$ 90,000
	$140,000
	$350,000

	Add: Investments
	
	  20,000
	  20,000
	  40,000

	Less: Withdrawals
	 (30,000)
	
	 (30,000)
	 (60,000)

	Less: Drawings
	 (10,000)
	 (10,000)
	 (10,000)
	 (30,000)

	
	
	
	
	

	Net contributed capital
	  80,000
	 100,000
	 120,000
	 300,000

	Add: Net incomea
	  24,000
	  24,000
	  24,000
	  72,000

	
	
	
	
	

	Balance December 31
	$104,000
	$124,000
	$144,000
	$372,000


a
Net income = $372,000 ending capital - $300,000 net contributed capital.

Solution E15-6
	1
	Batty capital
	$70,000
	

	
	

Peters capital
	
	$70,000


To record assignment of half of Batty’s capital account to Peters.

2
The total capital of BIG Entertainment Galley remains at $400,000. The amount paid by Peters to Batty does not affect the partnership and Peters does not become a partner with the assignment of half of Batty’s interest.

Solution E15-7
Capital balances after Ring is admitted when assets are not revalued:

	
	Old Capital
	
	Capital Transfer
	New Capital

	
	
	
	
	

	Klaxon capital
	$140,000
	x 40%
	 $(56,000)
	$ 84,000

	Bell capital
	  60,000
	x 40%
	  (24,000)
	  36,000

	Ring capital
	        
	
	  80,000
	  80,000

	
	
	
	
	

	
Total capital
	$200,000
	
	       0
	$200,000


Solution E15-8
Journal entries to admit Johnson to the Bowen/Monita partnership:

	Goodwill
	$ 90,000
	

	

Bowen capital
	
	$ 54,000

	

Monita capital
	
	  36,000


To record goodwill computed as follows:

New capital = $150,000 SYMBOL 184 \f "Symbol" 1/3 = $450,000

Goodwill = $450,000 new capital - $360,000 old capital = $90,000

	Bowen capital
	$ 78,000
	

	Monita capital
	  72,000
	

	

Johnson capital
	
	$150,000


To record capital transfer to Johnson: ($180,000 + $54,000)/3 from Bowen and ($180,000 + $36,000)/3 from Monita.

Solution E15-9
1
Investment of $50,000 in partnership with revaluation:

	
	Cash
	$50,000
	

	
	Goodwill
	 10,000
	

	
	

Walk capital
	
	$60,000


The new partnership valuation is computed as: old capital of $240,000/80% retained interest = $300,000 new capital. Goodwill is computed as: new capital of $300,000 - $290,000 (the old capital plus investment) = $10,000 goodwill.

2
Investment of $70,000 in partnership with revaluation:

	
	Goodwill
	$40,000
	

	
	

Sprint capital
	
	$12,000

	
	

Jog capital
	
	 20,000

	
	

Run capital
	
	  8,000


New partnership capital is computed on the basis of new investment of $70,000/20% interest = $350,000 new capital. New capital of $350,000 - ($240,000 old capital + $70,000 investment) = $40,000 goodwill.

	
	Cash
	$70,000
	

	
	

Walk capital
	
	$70,000


To record Walk’s investment in the partnership.

Solution E15-10
1
Investment of $120,000 in the partnership with no revaluation:


$400,000 old capital + $120,000 additional investment = $520,000


Boudreaux’s interest = $520,000 SYMBOL 180 \f "Symbol" 25% = $130,000


Therefore, the old partners are giving a bonus to Boudreaux of $10,000.

	
	Cash
	$120,000
	

	
	Manda capital
	   3,600
	

	
	Emeril capital
	   2,400
	

	
	Fotenot capital
	   4,000
	

	
	

Boudreaux capital
	
	$130,000


To record Boudreaux’s admission to a 25% interest in the partnership capital and earnings.


Capital accounts after Boudreaux’s admission to the partnership:

	
	Manda capital ($140,000 - $3,600)
	$136,400

	
	Emeril capital ($100,000 - $2,400)
	  97,600

	
	Fotenot capital ($160,000 - $4,000)
	 156,000

	
	Boudreaux capital
	 130,000

	
	
	$520,000


2
The profit and loss sharing ratios of the new partnership will depend on the provisions of the new partnership agreement. If the old partners wish to maintain their old partnership relationship, one possible division would be to reduce each of the old partners ratio by 25% (in other words, a new ratio of 27:18:30:25). However, if the issue is not addressed in the new partnership agreement, the partners will share profits equally, 25:25:25:25, in accordance with the Uniform Partnership Act.

Solution E15-11
Retirement of Nixon with revaluation:

	
	Goodwill
	$70,000
	

	
	

Nixon capital (30%)
	
	$21,000

	
	

Mann capital (30%)
	
	 21,000

	
	

Peter capital (40%)
	
	 28,000


To record goodwill implied by the excess payment to Nixon computed as: ($85,000 - $64,000)/30% = $70,000.

	
	Nixon capital
	$85,000
	

	
	

Cash
	
	$85,000


To record payment to Nixon upon his retirement.

Solution E15-12
Entry to write-up assets to fair value
	
	Assets
	$20,000
	

	
	

Beck capital
	
	$10,000

	
	

Dee capital
	
	  8,000

	
	

Lynn capital
	
	  2,000


Entry to record settlement with Dee
	
	Dee capital
	$38,000
	

	
	Beck capital (5/6 SYMBOL 180 \f "Symbol" $3,000 excess payment)
	  2,500
	

	
	Lynn capital (1/6 SYMBOL 180 \f "Symbol" $3,000 excess payment)
	    500
	

	
	

Dee loan
	
	$10,000

	
	

Cash
	
	 31,000


	Beck capital ($30,000 + $10,000 - $2,500)
	$37,500

	
	

	Lynn capital ($10,000 + $2,000 - $500)
	$11,500


Solution E15-13
1
Income Allocation Schedule

	
	
	
	 Kathy 
	 Eddie 
	 Total 

	
	Net income
	$30,000
	
	
	

	
	Bonus to Kathy
	 (1,500)
	  1,500
	
	  1,500

	
	Remainder
	 28,500
	
	
	

	
	Salary allowance
	(25,000)
	 10,000
	 15,000
	 25,000

	
	Remainder
	  3,500
	
	
	

	
	50/50 split
	 (3,500)
	  1,750
	  1,750
	  3,500

	
	Remainder
	    -0-
	$13,250
	$16,750
	$30,000


	2
	Revenue and Expense Summary
	$30,000
	

	
	

Kathy Capital
	
	$13,250

	
	

Eddie Capital
	
	$16,750


Allocate partnership net income for the year to the partners.

	
	Kathy Capital
	$15,000
	

	
	

Kathy Drawing
	
	$15,000

	
	Eddie Capital
	$10,000
	

	
	

Eddie Drawing
	
	$10,000


Close the drawing accounts to the capital accounts.

	3
	Capital Accounts

	
	K & E Partnership

	
	Statement of Partners’ Capital

	
	For the year ended December 31 2006


	
	
	 Kathy 
	 Eddie 

	
	Capital balances January 1, 2006
	$496,750
	$268,250

	
	Add: Additional investments
	   5,000
	   5,000

	
	Deduct: Withdrawals
	       0
	       0

	
	Deduct: Drawings
	  15,000
	  10,000

	
	Add: Net income
	  13,250
	  16,750

	
	Capital balances December 31, 2006
	$500,000
	$280,000


Solution E15-14
1
Valuation of assets and liabilities as implied by excess payment to Boxer:

	
	Building
	$20,000
	

	
	Goodwill
	 80,000
	

	
	

Byder capital
	
	$ 30,000

	
	

Boxer capital
	
	  20,000

	
	

Danner capital
	
	  40,000

	
	

Foust capital
	
	  10,000


To record revaluation of building and goodwill implied by the excess payment to Boxer on his retirement ($20,000 SYMBOL 184 \f "Symbol" 20% = $100,000 revaluation).

	
	Boxer capital
	$70,000
	

	
	

Cash
	
	$ 70,000


To record cash payment to Boxer on his retirement from the business.

2
Revaluation of assets recognized only to the extent of the excess payment to Boxer:

	
	Building
	$20,000
	

	
	Boxer capital
	 50,000
	

	
	

Cash
	
	$ 70,000


To record revaluation and cash payment to Cegal on his retirement.

3
No revaluation; bonus to retiring partner:

	
	Boxer capital
	$50,000
	

	
	Byder (30/80)
	  7,500
	

	
	Danner (40/80)
	 10,000
	

	
	Foust(10/80)
	  2,500
	

	
	

Cash
	
	$ 70,000


To record a $20,000 bonus to Cegal upon retirement.

Solution E15-15
1
a

	
	Bill’s contribution ($20,000 + $60,000 + $15,000 - $30,000)
	$ 65,000

	
	Ken’s contribution
	  50,000

	
	Total tangible contributions
	$115,000


Ken’s contribution $50,000/.4 interest = $125,000 total capital

Total capital based on Ken’s contribution $125,000 less amount contributed by Ken and Bill $115,000 = $10,000 goodwill

2
c

Jay’s investment of $65,000 is greater than his capital credit of 1/3 of $175,000; thus, there is goodwill to the old partners.


New capital = $65,000 SYMBOL 184 \f "Symbol" 1/3 = $195,000 

New capital of $195,000 - (old capital $110,000 + $65,000 investment) = $20,000 goodwill.


Revaluation is recorded: 

	
	Goodwill (other assets)
	$20,000
	

	
	
Thomas capital (50%)
	
	$ 10,000

	
	
Mark capital (50%)
	
	  10,000



Mark’s capital = $60,000 + $10,000 goodwill = $70,000
Solution E15-15
(continued)

3
c

Total capital ($170,000 + $200,000 + $200,000) = $570,000

Zen’s interest $570,000 SYMBOL 180 \f "Symbol" 1/3 = $190,000

Therefore, Tina and Warren receive a $10,000 bonus, shared equally.

4
c

$90,000 investment > 25% SYMBOL 180 \f "Symbol" ($100,000 + $80,000 + $90,000), thus, there is goodwill to the old partners.

	
	New capital $90,000/25%
	$360,000

	
	Old capital + new investment $180,000 + $90,000
	(270,000)

	
	
Goodwill
	$ 90,000

	
	
	

	
	Finney capital $100,000 + (50% SYMBOL 180 \f "Symbol" $90,000 goodwill)
	$145,000

	
	Rhoads capital $80,000 + (50% SYMBOL 180 \f "Symbol" $90,000 goodwill)
	 125,000

	
	Chesterfield capital
	  90,000

	
	
Total capital
	$360,000


5
b

	
	Payment to Gini at retirement
	$200,000

	
	Capital account before recording share of goodwill
	 170,000

	
	Gini’s share of goodwill
	$ 30,000

	
	
	

	
	Total goodwill for partnership ($30,000/.3)
	$100,000

	
	
	

	
	Total assets before Gini’s retirement ($240,000 cash +
	

	
	  $360,000 other assets + $100,000 goodwill)
	$700,000

	
	Less: Payment to Gini on retirement
	 200,000

	
	Total assets after Gini retires
	$500,000


Solution E15-16
1
a

	
	
	
	Capital Interest
	Income Interest

	
	Tony capital
	$ 30,000
	30%
	50%

	
	Olga capital
	  70,000
	70%
	50%

	
	
	$100,000
	
	


Since capital and income interests were not aligned at the time of Shirley’s purchase, the $40,000 payment to Tony does not provide a basis for revaluation. Thus, half of Tony’s $30,000 capital balance should be transferred to Shirley.

2
a


Implied total valuation of partnership based on 

	
	  Duncan’s $60,000 payment to partners ($60,000/.4)
	$150,000



Entry to record goodwill:
	
	Goodwill
	$30,000
	

	
	
Linkous capital
	
	$ 15,000

	
	

Quesenberry capital
	
	  15,000



Entry to transfer equal capital amounts to Duncan:
	
	Linkous capital
	$30,000
	

	
	Quesenberry capital
	 30,000
	

	
	
Duncan capital
	
	$ 60,000



Capital accounts after admission of Duncan:
	
	Linkous capital ($50,000 + $15,000 - $30,000)
	$ 35,000

	
	Quesenberry capital ($70,000 + $15,000 - $30,000)
	  55,000

	
	Duncan capital
	  60,000

	
	Total capital
	$150,000


3
c

Oakes’s investment of $50,000 is less than his capital credit of $56,667 [($120,000 old capital + $50,000 investment) SYMBOL 180 \f "Symbol" 1/3] under the bonus approach; therefore, goodwill accrues to Oakes.

Old capital of $120,000 SYMBOL 184 \f "Symbol" 2/3 interest retained by old partners = $180,000 capitalization. $180,000 - $170,000 old capital and new investment = $10,000 goodwill.

	
	
	Old
	Admission
	New

	
	
	 Capital 
	of Oakes
	 Capital 

	
	McCall
	$ 70,000
	
	$ 70,000

	
	Newby
	  50,000
	
	  50,000

	
	Oakes
	        
	$60,000
	  60,000

	
	Total
	$120,000
	$60,000
	$180,000


4
b


Bonus to Oakes = ($170,000/3) - $50,000 = $6,667 bonus

	
	
	Old
	Admission
	New

	
	
	 Capital 
	of Oakes
	 Capital 

	
	McCall
	$ 70,000
	 $(3,333)
	$ 66,667

	
	Newby
	  50,000
	  (3,334)
	  46,666

	
	Oakes
	
	 56,667
	  56,667

	
	Total
	$120,000
	$50,000
	$170,000


Solution E15-16 (continued)

5
a

	
	
	 Bennett 
	 Carter 
	  Davis  
	  Total  

	
	Capital balances
	$100,000
	$200,000
	$200,000
	$500,000

	
	Revalue assets
	  20,000
	  30,000
	  50,000
	 100,000

	
	Adjusted balances
	 120,000
	 230,000
	 250,000
	 600,000

	
	Excess payment to 
	
	
	
	

	
	  Carter 20/50
	  (4,000)
	  14,000
	 (10,000)
	

	
	Ending balances
	$116,000
	$244,000
	$240,000
	


Solution E15-17 [AICPA adapted]

1
b

2
a

3
a

	
	Withdrawal
	$130,000

	
	Less: Additional investment
	  25,000

	
	Net withdrawal
	 105,000

	
	Less: Net decrease in capital
	  60,000

	
	
Plack’s share of net income
	$ 45,000

	
	
	

	
	Total net income ($45,000/.3 Plack’s interest)
	$150,000


4
a

	
	
	
	  Fox  
	  Greg  
	  Howe  

	
	Loss
	$ (33,000)
	
	
	

	
	Interest
	  (22,000)
	$ 12,000
	$  6,000
	$  4,000

	
	Salaries
	  (50,000)
	  30,000
	
	  20,000

	
	Loss to divide
	 (105,000)
	
	
	

	
	Divided equally
	  105,000
	 (35,000)
	 (35,000)
	 (35,000)

	
	
	        0
	$  7,000
	$(29,000)
	$(11,000)


5
b


The bonus to Beck is $60,000, computed as follows:

    B = bonus

    B = .25($300,000 - B)

    B = $75,000 - .25B

1.25B = $75,000

    B = $60,000

Solution E15-18
[AICPA]

1
c


Old capital at fair value = $300,000 = 80% of new capital

	
	New capital ($300,000/.8)
	$375,000

	
	Less: Old capital
	 300,000)

	
	Cash to be invested
	$ 75,000


2
b

	
	
	Old Capital
	Capital Changes
	New Capital

	
	Elton
	$ 70,000
	 $(7,000)
	$ 63,000

	
	Don
	  60,000
	  (3,000)
	  57,000

	
	Kravitz
	        
	 60,000
	  60,000

	
	
	$130,000
	$50,000
	$180,000


3
b

William’s $40,000 capital investment > capital credit ($140,000 SYMBOL 180 \f "Symbol" 25%) Thus, goodwill to old partners.

	
	New capital ($40,000/.25)
	$160,000

	
	Old capital
	 140,000

	
	
Goodwill
	$ 20,000



Revaluation entry:
	
	Goodwill
	$20,000
	

	
	
Eli capital ($20,000 SYMBOL 180 \f "Symbol" 60%)
	
	$ 12,000

	
	
George capital ($20,000 SYMBOL 180 \f "Symbol" 30%)
	
	   6,000

	
	
Dick capital ($20,000 SYMBOL 180 \f "Symbol" 10%)
	
	   2,000



Admission of William:
	
	Eli capital ($92,000 SYMBOL 180 \f "Symbol" 25%)
	$23,000
	

	
	George capital ($46,000 SYMBOL 180 \f "Symbol" 25%)
	 11,500
	

	
	Dick capital ($22,000 SYMBOL 180 \f "Symbol" 25%)
	  5,500
	

	
	
William capital
	
	$ 40,000



New capital balances:
	
	Eli capital ($92,000 - $23,000)
	
	$ 69,000

	
	George capital ($46,000 - $11,500)
	
	  34,500

	
	Dick capital ($22,000 - $5,500)
	
	  16,500

	
	William capital
	
	  40,000

	
	Total capital
	
	$160,000


Solution E15-18 (continued)

4
b

	
	Purchase price paid by Sidney
	$132,000

	
	Capital transferred to Sidney ($444,000 SYMBOL 180 \f "Symbol" 20%)
	  88,800

	
	Combined gain to Newton and Sharman
	$ 43,200


Because capital balances are not aligned with profit and loss sharing ratios, the $88,800 capital transferred to Sidney will be charged to Newton and Sharman by agreement.

5
d

	
	Old capital ($60,000 + $20,000)
	$ 80,000

	
	Additional capital invested by Grant
	  15,000

	
	New capital
	  95,000

	
	Grant’s capital interest
	      20%

	
	Grant’s capital account
	$ 19,000


6
a

	
	Excess payment to Dixon [$74,000 - ($210,000 - $160,000)]
	$ 24,000

	
	
	

	
	Implied goodwill ($24,000 excess payment/.2 profit and loss
	

	
	  interest of Dixon)
	$120,000


7
b

	
	
	20%
	20%
	60%
	

	
	
	Williams
	 Brown 
	  Lowe  
	  Total  

	
	Per books
	$ 70,000
	$65,000
	$150,000
	$285,000

	
	Asset revaluationa
	  12,000
	 12,000
	  36,000
	  60,000

	
	Balance after revaluation
	  82,000
	 77,000
	 186,000
	 345,000

	
	Goodwill recognitionb
	  20,000
	 20,000
	  60,000
	 100,000

	
	Balance before retirement
	 102,000
	 97,000
	 246,000
	 445,000

	
	Retirement of Williams
	 (102,000)
	        
	        
	 (102,000)

	
	
	       0
	$97,000
	$246,000
	$343,000


a
Asset revaluation: $360,000 - $300,000 = $60,000

b
Goodwill: ($102,000 - $82,000)/.2 = $100,000

Solution E15-19
Kray, Lamb, and Mann Partnership
Statement of Partners’ Capital

for the year ended December 31, 2006

	
	  Kray  
	  Lamb  
	  Mann  
	  Total  

	
	
	
	
	

	Capital January 1, 2006
	$65,000
	$75,000
	$70,000
	$210,000

	Additional investment
	  4,000
	
	
	   4,000

	Withdrawals
	       
	  (5,000)
	  (4,000)
	   (9,000)

	
	
	
	
	

	Net contributed capital
	 69,000
	 70,000
	 66,000
	 205,000

	Net income (see schedule)
	 11,500
	 23,500
	 12,000
	  47,000

	
	
	
	
	

	Capital December 31, 2006
	$80,500
	$93,500
	$78,000
	$252,000


Kray, Lamb, and Mann Partnership
Schedule of Income Allocation

for the year ended December 31, 2006

	
	Net Income
	  Kray  
	  Lamb  
	  Mann  

	
	
	
	
	

	Income to divide
	$47,000
	
	
	

	Salary to Lamb
	 (11,000)
	
	$11,000
	

	Interest allowances
	 (21,000)
	$ 6,500
	  7,500
	$ 7,000

	
	
	
	
	

	Remainder to divide
	 15,000
	
	
	

	Divided equally
	 (15,000)
	  5,000
	  5,000
	  5,000

	
	
	
	
	

	Income allocation
	      0
	$11,500
	$23,500
	$12,000


Solution E15-20
1
If assets are not revalued:

	
	
	Before Admission
	Transfers on
	Capital Balances

	
	
	    of Iota    
	Admission of Iota
	After Admission

	
	
	
	
	

	
	Grosby
	$ 45,000
	 $(22,500)
	$ 22,500

	
	Hambone
	  65,000
	  (32,500)
	  32,500

	
	Iota
	        
	  55,000
	  55,000

	
	
	$110,000
	       0
	$110,000



If assets are revalued:

	
	
	Capital
	
	Capital
	
	Capital

	
	
	Balances
	
	Balances
	
	Balances

	
	
	Before
	Revaluation
	After
	Transfers
	After

	
	
	Revaluation
	 ($30,000) 
	Revaluation
	 to Iota 
	Admission

	
	
	
	
	
	
	

	
	Grosby
	$ 45,000
	$13,500
	$ 58,500
	 $(29,250)
	$ 29,250

	
	Hambone
	  65,000
	 16,500
	  81,500
	  (40,750)
	  40,750

	
	Iota
	        
	        
	        
	  70,000
	  70,000

	
	
	$110,000
	$30,000
	$140,000
	       0
	$140,000


2
Since old partners transferred 50% of their interests in future profits, profits should be divided: 22.5% to Grosby, 27.5% to Hambone, and 50% to Iota. The partners can, of course, agree to any profit and loss sharing arrangement that they choose.

3
In the absence of a new partnership agreement, profits will be divided equally.

Solution E15-21
Method 1: Bonus to retiring partner
	
	Case capital
	$140,000
	

	
	Donley capital
	   9,000
	

	
	Early capital
	  12,000
	

	
	

Cash
	
	$161,000


To record Case’s retirement with a $21,000 bonus, shared by Donley and Early in their relative profit and loss sharing ratios (3/7 and 4/7, respectively).

Method 2: Goodwill to retiring partner only
	
	Case capital
	$140,000
	

	
	Goodwill
	  21,000
	

	
	

Cash
	
	$161,000


To record Case’s retirement and to record the $21,000 excess payment to Case as goodwill.

Method 3: Goodwill implied by excess payment
	
	Goodwill
	$ 70,000
	

	
	

Case capital
	
	$ 21,000

	
	

Donley capital
	
	  21,000

	
	

Early capital
	
	  28,000


To record goodwill implied by the excess payment to Case on her retirement. Goodwill is computed as the excess payment divided by Case’s profit and loss sharing ratio ($21,000/30%).

	
	Case capital
	$161,000
	

	
	

Cash
	
	$161,000


To record retirement of Case.

SOLUTIONS TO PROBLEMS

Solution P15-1
	Preliminary computation
	

	Beginning capital ($69,000 + $85,500 + $245,500)
	$400,000

	Capital adjustments: Additional investment less withdrawals
	  (4,000)

	
	 396,000

	Ending capital
	(481,000)

	Net income
	$ 85,000


Ellen, Fargo, and Gary
Statement of Partnership Capital

for the year ended December 31, 2006

	
	  Ellen  
	  Fargo  
	  Gary  
	  Total  

	Capital balance January 1
	$69,000
	$85,500
	$245,500
	$400,000

	Add: Additional investment
	
	
	  20,000
	  20,000

	Deduct: Salary allowances
	 (12,000)
	 (12,000)
	        
	  (24,000)

	
Net contributed capital
	 57,000
	 73,500
	 265,500
	 396,000

	Income allocation (see
	
	
	
	

	  schedule)
	 24,200
	 24,200
	  36,600
	  85,000

	Capital balance December 31
	$81,200
	$97,700
	$302,100
	$481,000

	
	
	
	
	

	
	
	
	
	

	Income allocation schedule:
	
	
	
	

	
	Total
	Ellen
	Fargo
	Gary

	Income to divide
	$85,000
	
	
	

	Salary allowances
	 (24,000)
	$12,000
	$12,000
	

	Remainder to divide
	 61,000
	
	
	

	Divided 20:20:60
	 (61,000)
	 12,200
	 12,200
	$ 36,600

	Income allocation
	      0
	$24,200
	$24,200
	$ 36,600


Solution P15-2
	1
	Mortin, Oscar, and Trent Partnership

	
	Balance Sheet

	
	at January 2, 2006


	
	Cash ($20,000 + $95,000)
	$115,000

	
	Accounts receivable — net
	 100,000

	
	Inventories
	 200,000

	
	Plant assets — net ($120,000 + $120,000)
	 240,000

	
	Goodwill
	  40,000a

	
	
Total assets
	$695,000

	
	
	

	
	Accounts payable
	$ 50,000

	
	Mortin capital (1/3 interest)
	

	
	  ($120,000 + $85,000b + $20,000)
	 225,000

	
	Oscar capital (1/3 interest)
	

	
	  ($100,000 + $85,000b + $20,000)
	 205,000

	
	Trent capital (1/3 interest)
	 215,000c

	
	
Total equities
	$695,000


a
Trent’s $215,000 SYMBOL 184 \f "Symbol" 1/3 = $645,000 total capitalization 


$645,000 - $605,000 fv of old assets + Trent’s investment = $40,000 goodwill $40,000 goodwill is divided equally between Mortin and Oscar

b
Revaluation of assets to fair value ($170,000 divided equally between Mortin and Oscar)

c
Trent’s investment ($95,000 cash + $120,000 building) = $215,000

	2
	Mortin, Oscar, and Trent Partnership

	
	Balance Sheet

	
	at January 2, 2006


	
	Cash ($20,000 + $95,000)
	$115,000

	
	Accounts receivable — net
	 100,000

	
	Inventories
	  50,000

	
	Plant assets — net ($100,000 + $120,000)
	 220,000

	
	
Total assets
	$485,000

	
	Accounts payable
	$ 50,000

	
	Mortin capital (1/3 interest)
	

	
	  ($120,000 + $35,000a)
	 155,000

	
	Oscar capital (1/3 interest)
	

	
	  ($100,000 + $35,000a)
	 135,000

	
	Trent capital (1/3 interest)
	 145,000b

	
	
Total equities
	$485,000


a
Trent is paying a bonus to Mortin and Oscar because his investment of $215,000 ($95,000 cash and $120,000 building) is worth more than a 1/3 interest in the book value of the combined assets ($215,000 + $220,000). The $70,000 bonus is evenly divided between Mortin and Oscar based on their profit sharing ratios. The journal entry to record Trent’s admission in the partnership is:

	
	Cash
	 95,000
	

	
	Building
	120,000
	

	
	
Trent Capital
	
	145,000

	
	
Mortin Capital
	
	 35,000

	
	
Oscar Capital
	
	 35,000


b
Trent’s investment ($95,000 cash + $120,000 building) = $215,000


Book value plus Trents investment is $220,000 + $215,000 = $435,000


Trent gets a 1/3 interest or $145,000.

Solution P15-3
Ashe and Barbour Partnership
Income Distribution Schedule for 2006

	
	
	  Ashe  
	 Barbour 
	  Total  

	Net income to divide
	$105,000
	
	
	

	Interest allowance
	  (9,000)
	$ 4,000
	$ 5,000
	$  9,000

	Remainder to divide
	  96,000
	
	
	

	Salary to Ashe
	 (12,000)
	 12,000
	
	  12,000

	Remainder to divide
	  84,000
	
	
	

	Bonus to Ashe
	
	
	
	

	  B = .2($84,000 - B)
	
	
	
	

	  1.2B = $16,800
	
	
	
	

	  B = $14,000
	 (14,000)
	 14,000
	
	  14,000

	Remainder to divide
	  70,000
	
	
	

	Divided equally
	 (70,000)
	 35,000
	 35,000
	  70,000

	Income distribution
	       0
	$65,000
	$40,000
	$105,000


Solution P15-4
1
Profit allocation schedule

	
	
	
	  Alex  
	  Carl  
	 Erika 

	
	Net loss for 2006
	$(12,000)
	
	
	

	
	Salary to Alex
	 (10,000)
	$ 10,000
	
	

	
	Loss to divide
	 (22,000)
	
	
	

	
	Interest allowances:
	
	
	
	

	
	  Alex $60,000 SYMBOL 180 \f "Symbol" 10%
	  (6,000)
	   6,000
	
	

	
	  Carl $100,000 SYMBOL 180 \f "Symbol" 10%
	 (10,000)
	
	$ 10,000
	

	
	  Erika $110,000 SYMBOL 180 \f "Symbol" 10%
	 (11,000)
	
	
	$ 11,000

	
	Loss to divide
	 (49,000)
	
	
	

	
	Divided 30:30:40
	  49,000
	  (14,700)
	  (14,700)
	  (19,600)

	
	Allocation of loss
	       0
	$  1,300
	 $ (4,700)
	 $ (8,600)


	2
	Alex, Carl, and Erika Partnership

	
	Statement of Partnership Capital

	
	for the year ended December 31, 2006


	
	
	  Alex  
	  Carl  
	  Erika  
	  Total  

	
	Capital January 1, 2003
	$ 60,000
	$ 90,000
	$110,000
	$260,000

	
	Add: Additional 

  investments
	        
	  30,000
	  20,000
	  50,000

	
	
	  60,000
	 120,000
	 130,000
	 310,000

	
	Deduct: Withdrawals
	
	
	  (10,000)
	  (10,000)

	
	Deduct: Drawings
	   (8,000)
	        
	        
	   (8,000)

	
	Net contributed capital
	  52,000
	 120,000
	 120,000
	 292,000

	
	Net loss for 2003
	   1,300
	   (4,700)
	   (8,600)
	  (12,000)

	
	Capital

  December 31, 2003
	$ 53,300
	$115,300
	$111,400
	$280,000


3
Correcting entry:

	
	Erika capital
	$1,200
	

	
	

Alex capital
	
	$1,100

	
	

Carl capital
	
	   100


To correct capital accounts for error in loss allocation:

	
	
	  Alex  
	  Carl  
	  Erika  

	
	Correct loss allocation
	$ 1,300
	 $(4,700)
	 $(8,600)

	
	Less: Actual loss allocation
	    (200)
	  4,800
	  7,400

	
	Adjustment
	$ 1,100
	$   100
	 $(1,200)


Solution P15-5
1
Assumptions: Net income = $60,000, divided on basis of average capital balances.

	
	Katie:
	$ 80,000 SYMBOL 180 \f "Symbol" 3 months =
	$240,000
	
	

	
	
	 100,000 SYMBOL 180 \f "Symbol" 3 months =
	 300,000
	
	

	
	
	  90,000 SYMBOL 180 \f "Symbol" 6 months =
	 540,000
	$1,080,000/12 =
	$90,000

	
	
	
	
	
	

	
	Lynda:
	$ 80,000 SYMBOL 180 \f "Symbol" 4 months =
	$320,000
	
	

	
	
	  65,000 SYMBOL 180 \f "Symbol" 8 months =
	 520,000
	$  840,000/12 =
	$70,000

	
	
	
	
	
	

	
	Molly: 
	$ 90,000 SYMBOL 180 \f "Symbol" 8 months =
	$720,000
	
	

	
	
	  60,000 SYMBOL 180 \f "Symbol" 4 months =
	 240,000
	$  960,000/12 =
	$80,000


	
	Allocation to Katie:
	$60,000 net income SYMBOL 180 \f "Symbol" 9/24 =
	$22,500

	
	Allocation to Lynda:
	$60,000 net income SYMBOL 180 \f "Symbol" 7/24 =
	 17,500

	
	Allocation to Molly:
	$60,000 net income SYMBOL 180 \f "Symbol" 8/24 =
	 20,000

	
	Net income
	
	$60,000


2
Assumptions: Net income = $50,000, 10% bonus to Katie, remainder divided on basis of beginning capital balances.

	
	
	 Profit 
	  Katie  
	  Lynda  
	  Molly  

	
	Net income
	$50,000
	
	
	

	
	Bonus to Katie
	 (5,000)
	$ 5,000
	
	

	
	Remainder to divide
	 45,000
	
	
	

	
	Capital allowances
	
	
	
	

	
	  $45,000 SYMBOL 180 \f "Symbol" $80,000/$250,000
	(14,400)
	 14,400
	
	

	
	  $45,000 SYMBOL 180 \f "Symbol" $80,000/$250,000
	(14,400)
	
	$14,400
	

	
	  $45,000 SYMBOL 180 \f "Symbol" $90,000/$250,000
	(16,200)
	       
	       
	$16,200

	
	Allocation of net income
	      0
	$19,400
	$14,400
	$16,200


3
Assumptions: Net loss = $35,000, Salary of $12,000 for Molly and a 10% interest on beginning capital balances, and remainder divided equally.

	
	
	  Loss  
	  Katie  
	  Lynda  
	  Molly  

	
	Net loss
	$(35,000)
	
	
	

	
	Salary allowance
	 (12,000)
	
	
	  12,000

	
	Loss to divide
	$(47,000)
	
	
	

	
	Interest on beginning capital
	 (25,000)
	$  8,000
	$  8,000
	$  9,000

	
	Loss to divide
	 (72,000)
	
	
	

	
	Divided equally
	  72,000
	  (24,000)
	  (24,000)
	  (24,000)

	
	Loss allocation
	       0
	 $(16,000)
	 $(16,000)
	 $ (3,000)


Solution P15-6
1
Computation of reported capital balances:

	
	
	 Jones 
	 Keller 
	 Glade 
	  Total  

	
	Capital January 2, 2006
	$30,000
	$30,000
	$30,000
	$ 90,000

	
	Add: Investments for 2006
	
	
	  5,000
	   5,000

	
	Less: Withdrawals for 2006
	 (5,000)
	 (4,000)
	       
	 (9,000)

	
	Net contributed capital
	 25,000
	 26,000
	 35,000
	  86,000

	
	Income allocation — Schedule A
	 11,000
	  4,000
	  4,000
	  19,000

	
	Capital December 31, 2006
	 36,000
	 30,000
	 39,000
	 105,000

	
	Add: Investments for 2007
	  5,000
	
	
	   5,000

	
	Less: Withdrawals for 2007
	
	 (3,000)
	 (8,000)
	 (11,000)

	
	Net contributed capital
	 41,000
	 27,000
	 31,000
	  99,000

	
	Income allocation — Schedule B
	 12,100
	  4,500
	  5,400
	  22,000

	
	Capital December 31, 2007
	 53,100
	 31,500
	 36,400
	 121,000

	
	Add: Investments for 2008
	
	
	  6,000
	   6,000

	
	Less: Withdrawals for 2008
	
	 (4,000)
	 (2,000)
	  (6,000)

	
	Net contributed capital
	 53,100
	 27,500
	 40,400
	 121,000

	
	Income allocation — Schedule C
	 15,610
	  6,450
	  6,940
	  29,000

	
	Capital January 1, 2009
	$68,710
	$33,950
	$47,340
	$150,000

	
	
	
	
	
	

	
	Schedule A
	Net Income
	 Jones 
	 Keller 
	 Glade 

	
	Income to allocate
	$19,000
	
	
	

	
	Interest allowances:
	
	
	
	

	
	
Jones ($30,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,000)
	$ 3,000
	
	

	
	
Keller ($30,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,000)
	
	$ 3,000
	

	
	
Glade ($30,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,000)
	
	
	$  3,000

	
	Remainder to divide
	 10,000
	
	
	

	
	Salary to Jones
	 (7,000)
	  7,000
	
	

	
	Remainder to divide
	  3,000
	
	
	

	
	Divided equally
	 (3,000)
	  1,000
	  1,000
	   1,000

	
	Income allocation
	      0
	$11,000
	$ 4,000
	$  4,000

	
	
	
	
	
	

	
	
	
	
	
	

	
	Schedule B
	Net Income
	 Jones 
	 Keller 
	 Glade 

	
	Income to allocate
	$22,000
	
	
	

	
	Interest allowances:
	
	
	
	

	
	
Jones ($36,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,600)
	$ 3,600
	
	

	
	
Keller ($30,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,000)
	
	$ 3,000
	

	
	
Glade ($39,000 SYMBOL 180 \f "Symbol" 10%)
	 (3,900)
	
	
	$  3,900

	
	Remainder to divide
	 11,500
	
	
	

	
	Salary to Jones
	 (7,000)
	  7,000
	
	

	
	Remainder to divide
	  4,500
	
	
	

	
	Divided equally
	 (4,500)
	  1,500
	  1,500
	   1,500

	
	Income allocation
	      0
	$12,100
	$ 4,500
	$  5,400

	
	
	
	
	
	

	
	Schedule C
	Net Income
	 Jones 
	 Keller 
	 Glade 

	
	Income to allocate
	$29,000
	
	
	

	
	Interest allowances:
	
	
	
	

	
	
Jones ($53,100 SYMBOL 180 \f "Symbol" 10%)
	 (5,310)
	$ 5,310
	
	

	
	
Keller ($31,500 SYMBOL 180 \f "Symbol" 10%)
	 (3,150)
	
	$ 3,150
	

	
	
Glade ($36,400 SYMBOL 180 \f "Symbol" 10%)
	 (3,640)
	
	
	$  3,640

	
	Remainder to divide
	 16,900
	
	
	

	
	Salary to Jones
	 (7,000)
	  7,000
	
	

	
	Remainder to divide
	  9,900
	
	
	

	
	Divided equally
	 (9,900)
	  3,300
	  3,300
	   3,300

	
	Income allocation
	      0
	$15,610
	$ 6,450
	$  6,940


Solution P15-6 (continued)

2
Correct income and capital account balances:

	
	
	  2006  
	  2007  
	  2008  

	
	Reported income
	$19,000
	$22,000
	$29,000

	
	Understatement of depreciation
	  (2,000)
	  (2,000)
	  (2,000)

	
	Understatement of inventory
	
	
	

	
	  at December 31, 2008
	
	  
	  8,000

	
	Corrected income
	$17,000
	$20,000
	$35,000


	
	
	 Jones 
	 Keller 
	 Glade 
	  Total  

	
	Capital per books
	$68,710
	$33,950
	$47,340
	$150,000

	
	Understatement
	    666 
	    667
	    667
	   2,000

	
	Capital as corrected
	$69,376
	$34,617
	$48,007
	$152,000


3
Correcting entry on January 1, 2009:

	
	Inventory
	$ 8,000
	

	
	
	
	

	
	            Jones capital
	
	$   666

	
	            Keller capital
	  
	    667

	
	            Glade capital
	  
	    667

	
	

Accumulated depreciation
	
	  6,000


To correct prior years’ profits and adjust accumulated depreciation.

Note: Since residual income is divided equally, it is not necessary to recompute the income allocation and capital balances for each of the three years.

Solution P15-7
1
Revaluation of assets and admission of Cathy:

	
	Inventories
	$ 10,000
	

	
	Plant assets — net
	  15,000
	

	
	Note payable
	  10,000
	

	
	Goodwill
	  75,000
	

	
	

Accounts receivable — net
	
	$  5,000

	
	

Addie capital
	
	  63,000

	
	

Bailey capital
	
	  42,000


To revalue assets and liabilities and record goodwill on the basis of the $150,000 paid by Cathy for a 40% interest. Total capital of $375,000 [computed as $150,000/.4] less ($150,000 fair value of recorded net assets plus $150,000 investment by Cathy) equals $75,000 goodwill.

	
	Cash
	$150,000
	

	
	

Cathy capital
	
	$150,000


To record Cathy’s investment for a 40% interest in partnership capital and profits.

	2
	Addie, Bailey, and Cathy Partnership

	
	Balance Sheet

	
	at January 2, 2006


	
	Assets
	

	
	
Cash
	$165,000

	
	
Accounts receivable — net
	  40,000

	
	
Inventories
	  60,000

	
	
Plant assets — net
	 105,000

	
	
Goodwill
	  75,000

	
	
Total assets
	$445,000

	
	
	

	
	Equities
	

	
	
Accounts payable
	$ 30,000

	
	
Note payable (15%)
	  40,000

	
	
Addie capital (33.3%)
	 127,000

	
	
Bailey capital (26.7%)
	  98,000

	
	
Cathy capital (40%)
	 150,000

	
	
Total equities
	$445,000


Solution P15-8
1
Cabel sells one-half of her interest to Darling for $90,000:

	
	Capital account balances:
	Abed capital
	$ 75,000

	
	
	Batak capital
	 100,000

	
	
	Cabel capital
	  62,500

	
	
	Darling capital
	  62,500

	
	
	
Total capital
	$300,000



There is no basis for revaluation because the capital balances are not aligned with profit and loss sharing ratios. The entry to admit Darling transfers one-half of Cabel’s capital account to Darling, regardless of the amount Darling pays Cabel:

	
	Cabel capital
	$62,500
	

	
	

Darling capital
	
	$ 62,500


To admit Darling to a 25% interest in the partnership.

2
Darling invests $75,000 in the partnership for a 25% interest, and partnership assets are revalued:

	
	Capital account balances:
	Abed capital
	$ 75,000

	
	
	Batak capital
	 100,000

	
	
	Cabel capital
	 125,000

	
	
	Darling capital
	 100,000

	
	
	
Total capital
	$400,000



Since Darling’s investment of $75,000 is less than his capital credit under the bonus procedure [($300,000 + $75,000) SYMBOL 180 \f "Symbol" 25%] and the assets are to be revalued, goodwill accrues to the new partner. The entry to record the admission of Darling to the partnership is:

	
	Cash
	$75,000
	

	
	Goodwill
	 25,000
	

	
	

Darling capital
	
	$100,000


To admit Darling to a 25% interest in the partnership and record goodwill computed as follows:

Old capital $300,000/.75 interest retained by the old partners = $400,000 new capital.

$400,000 new capital - ($300,000 old capital + $75,000 new investment) = $25,000 goodwill to new partner.

Solution P15-8 (continued)

3
Darling invests $80,000 for a 20% interest in the partnership and partnership assets are revalued:

	
	Capital account balances:
	Abed capital
	$ 80,000

	
	
	Batak capital
	 105,000

	
	
	Cabel capital
	 135,000

	
	
	Darling capital
	  80,000

	
	
	
Total capital
	$400,000



Since Darlings’s investment of $80,000 is greater than his capital credit under the bonus procedure [($300,000 + $80,000) SYMBOL 180 \f "Symbol" 20%], and assets are to be revalued, goodwill accrues to the old partners. The entries are as follows:

	
	Goodwill
	$20,000
	

	
	

Abed capital
	
	$  5,000

	
	

Batak capital
	
	   5,000

	
	

Cabel capital
	
	  10,000


To record goodwill and adjust the partners’ capital accounts:

Darling’s investment $80,000/20% = $400,000 new capital

$400,000 - $380,000 old capital plus new investment = $20,000 goodwill to the old partners.

	
	Cash
	$80,000
	

	
	

Darling capital
	
	$ 80,000


To admit Darling to a 20% interest in the partnership for $80,000.

4
Darling invests $90,000 for a 30% interest in the partnership and assets are not revalued:

	
	Capital account balances:
	Abed capital
	$ 68,250

	
	
	Batak capital
	  93,250

	
	
	Cabel capital
	 111,500

	
	
	Darling capital
	 117,000

	
	
	
Total capital
	$390,000



Since Darlings’s investment of $90,000 for a 30% interest is less than his capital credit [($300,000 + $90,000) SYMBOL 180 \f "Symbol" 30%], and no goodwill is to be recorded, Darling receives the bonus. The entry is as follows:

	
	Cash
	$90,000
	

	
	Abed capital
	  6,750
	

	
	Batak capital
	  6,750
	

	
	Cabel capital
	 13,500
	

	
	

Darling capital
	
	$117,000


To record Darling’s $90,000 investment for a 30% interest and allow him a bonus of $27,000 computed as follows:

($390,000 total capital SYMBOL 180 \f "Symbol" 30%) - $90,000 investment = $27,000

Solution P15-9
1
Revaluation (goodwill to new partner)

	
	Cash
	$85,080
	

	
	Goodwill
	  4,920
	

	
	

Con capital
	
	$90,000


To record admission of Con and goodwill to Con computed as:

Old capital of $450,000 = 5/6 new capital

New capital = $540,000

Con’s capital = $540,000 SYMBOL 180 \f "Symbol" 1/6 = $90,000

Goodwill to Con = $90,000 - $85,080 = $4,920


No revaluation (bonus to new partner)

	
	Cash
	$85,080
	

	
	Pat capital
	  1,640
	

	
	Mike capital
	  2,050
	

	
	Hay capital
	    410
	

	
	

Con capital
	
	$89,180


To record admission of Con and bonus to Con computed as:

New capital = $450,000 + $85,080 = $535,080

Con capital = $535,080 SYMBOL 180 \f "Symbol" 1/6 interest = $89,180

Bonus = $89,180 - $85,080 = $4,100, allocated 40:50:10

2
Revaluation

	
	Goodwill
	$60,480
	

	
	

Pat capital (40%)
	
	$24,192

	
	

Mike capital (50%)
	
	 30,240

	
	

Hay capital (10%)
	
	  6,048


To record revaluation of old partnership computed as:

New capital = $85,080 SYMBOL 184 \f "Symbol" 1/6 = $510,480

$510,480 - $450,000 = $60,480 undervaluation

	
	Pat capital
	$28,032
	

	
	Mike capital
	 41,040
	

	
	Hay capital
	 16,008
	

	
	

Con capital
	
	$85,080


To record capital transfers equal to 1/6 of old partners’ capital balances as adjusted: Pat ($144,000 + $24,192)/6 = $28,032

Mike ($216,000 + $30,240)/6 = $41,040 

Hay ($90,000 + $6,048)/6 = $16,008

	
	No revaluation
	
	

	
	Pat capital
	$24,000
	

	
	Mike capital
	 36,000
	

	
	Hay capital
	 15,000
	

	
	

Con
	
	$75,000


To transfer 1/6 of capital balances to Con.

Solution P15-10
1
Carmen pays $450,000 directly to Aida and Thais for 40% of each of their interests and the bonus procedure is used.

	
	Aida capital
	$200,000
	

	
	Thais capital
	 112,000
	

	
	

Carmen capital
	
	$312,000


Existing capital $780,000 SYMBOL 180 \f "Symbol" 40% = $312,000.

2
Carmen pays $600,000 directly to Aida and Thais for 40% of each of their interests and goodwill is recorded.

	
	Goodwill
	$720,000
	

	
	

Aida capital
	
	$360,000

	
	

Thais capital
	
	 360,000


Goodwill = Payment to old partners $600,000/.4 - $780,000 existing capital = $720,000

	
	Aida capital
	$344,000
	

	
	Thais capital
	 256,000
	

	
	

Carmen capital
	
	$600,000


Aida capital = ($500,000 + $360,000) SYMBOL 180 \f "Symbol" .4

Thais capital = ($280,000 + $360,000) SYMBOL 180 \f "Symbol" .4

3
Carmen invests $450,000 in the partnership for her 40% interest, and goodwill is recorded.

	
	Cash
	$450,000
	

	
	Goodwill
	  70,000
	

	
	

Carmen capital
	
	$520,000


Old capital $780,000/.6 = $1,300,000 new capital

New capital $1,300,000 - old capital $780,000 + new investment $450,000 = goodwill $70,000

4
Carmen invests $600,000 in the partnership for her 40% interest, and goodwill is recorded.

	
	Goodwill
	$120,000
	

	
	

Aida capital
	
	$ 60,000

	
	

Thais capital
	
	  60,000


Goodwill = new investment $600,000/.4 = $1,500,000 total capital

$1,500,000 - $1,380,000 old capital and new investment = $120,000

	
	Cash
	$600,000
	

	
	

Carmen capital
	
	$600,000


To record new partner’s investment.

Solution P15-11
Harry, Iona, and Jerry Partnership
Statement of Partnership Capital

for the years ended December 31, 2006 and 2007

	
	Harry
	Iona
	Jerry
	Total

	
	Capital
	Capital
	Capital
	Capital

	Investment January 1, 2004
	$20,000
	$20,000
	$20,000
	$ 60,000

	Additional investment — 2004
	
	  8,000
	
	  8,000

	Withdrawal — 2004
	  (4,000)
	       
	       
	  (4,000)

	
	
	
	
	

	Net contributed capital
	 16,000
	 28,000
	 20,000
	  64,000

	Net income — 2004
	  4,000
	  4,000
	 16,000
	  24,000

	
	
	
	
	

	Capital December 31, 2004
	 20,000
	 32,000
	 36,000
	  88,000

	Withdrawal — 2005
	  (4,000)
	  (8,000)
	       
	 (12,000)

	
	
	
	
	

	Net contributed capital
	 16,000
	 24,000
	 36,000
	  76,000

	Net income — 2005
	  2,727
	  4,364
	 16,909
	  24,000

	Capital December 31, 2005
	$18,727
	$28,364
	$52,909
	$100,000


Computation of net income:

Assets $129,500 - liabilities $29,500 = $100,000 capital December 31, 2005

Beginning capital $60,000 + investment $8,000 - withdrawals $16,000 = $52,000

$100,000 - $52,000 = $48,000 net income for the two year period.

Schedule of Profit and Loss Distribution
	
	Net Income
	 Harry 
	 Iona 
	 Jerry 

	Income for 2004
	$24,000
	
	
	

	Salary allowance to Jerry
	 (12,000)
	
	
	$ 12,000

	Remainder to divide
	 12,000
	
	
	

	One-third to each partner
	 (12,000)
	$ 4,000
	$ 4,000
	   4,000

	
	
	
	
	

	Allocation of income
	      0
	$ 4,000
	$ 4,000
	$ 16,000

	
	
	
	
	

	Income for 2005
	$24,000
	
	
	

	Salary allowance to Jerry
	 (12,000)
	
	
	$ 12,000

	Remainder to divide
	 12,000
	
	
	

	Divided in beginning capital
	
	
	
	

	  ratios: 20/88, 32/88, 36/88
	 (12,000)
	$ 2,727
	$ 4,364
	   4,909

	
	
	
	
	

	Allocation of income
	      0
	$ 2,727
	$ 4,364
	$ 16,909


Solution P15-12
1
Closing entries for Parker and Boone Partnership

	
	Service revenue
	$50,000
	

	
	

Supplies expense
	
	$17,000

	
	

Utilities expense
	
	  4,000

	
	

Other miscellaneous expenses
	
	  5,000

	
	

Income summary
	
	 24,000


To close revenue and expense to profit and loss summary account.

	
	Parker capital
	$ 8,000
	

	
	Boone capital
	 10,000
	

	
	

Salaries to partners
	
	$18,000


To close salaries to partners (drawings) to partners’ capital accounts.

	
	Income summary
	$24,000
	

	
	

Parker capital
	
	$12,000

	
	

Boone capital
	
	 12,000


To close income summary and to divide profits equally as required in the absence of a profit sharing agreement.

	2
	Parker and Boone Partnership

	
	Statement of Partners’ Capital

	
	for the ten months ending December 31, 2006


	
	
	Parker
	 Boone 
	 Total 

	
	Investments March 1, 2006
	$30,000
	$30,000
	$60,000

	
	Add additional investments:
	
	
	

	
	
Boone July 1
	
	 10,000
	 10,000

	
	
Parker October 1
	  4,000
	       
	  4,000

	
	
	 34,000
	 40,000
	 74,000

	
	Less Parker withdrawal May 2
	 (4,000)
	
	 (4,000)

	
	Less monthly drawings (salaries)
	 (8,000)
	(10,000)
	(18,000)

	
	Net contributed capital
	 22,000
	 30,000
	 52,000

	
	Add: Partnership net income
	 10,625
	 13,375
	 24,000

	
	Partnership capital 
	
	
	

	
	  December 31, 2006
	$32,625
	$43,375
	$76,000


Solution P15-12
(continued)


Schedule of Profit and Loss Distribution
	
	
	Net Income
	Parker
	 Boone 

	
	Net income
	 $24,000
	
	

	
	Salary allowances
	 (18,000)
	$ 8,000
	$ 10,000

	
	Remainder to divide
	   6,000
	
	

	
	Divide in average capital ratios:
	
	
	

	
	
Parker 28/64 (or 43.75%)
	 (2,625)
	  2,625
	

	
	
Boone 36/64 (or 56.25%)
	 (3,375)
	       
	   3,375

	
	Distribution of income
	      0
	$10,625
	$ 13,375



Computation of Average Capital Balances
	
	    Average capital of Parker   
	      Average capital of Boone   

	
	$30,000 SYMBOL 180 \f "Symbol" 2 months =
	$ 60,000
	$30,000 SYMBOL 180 \f "Symbol" 4 months =
	$120,000

	
	$26,000 SYMBOL 180 \f "Symbol" 5 months =
	 130,000
	$40,000 SYMBOL 180 \f "Symbol" 6 months =
	 240,000

	
	$30,000 SYMBOL 180 \f "Symbol" 3 months =
	  90,000
	
Total
	$360,000

	
	
Total
	$280,000
	
	

	
	
Average capital
	
	
Average capital
	

	
	
  ($280,000/10 
	
	
  ($360,000/10 
	

	
	
    months)
	$ 28,000
	
    months)
	$ 36,000


	3
	Parker and Boone Partnership

	
	Schedule of Profit and Loss Distribution

	
	for the ten months ending December 31, 2006


	
	
	Net Income
	Parker
	 Boone 

	
	Net income
	$24,000
	
	

	
	Salary allowances
	(18,000)
	$ 8,000
	$ 10,000

	
	Remainder to divide
	  6,000
	
	

	
	Interest allowance:
	
	
	

	
	
Parker
	
	
	

	
	
  $28,000 SYMBOL 180 \f "Symbol" 12% SYMBOL 180 \f "Symbol" 10/12 year
	 (2,800)
	  2,800
	

	
	
Boone 
	
	
	

	
	
  $36,000 SYMBOL 180 \f "Symbol" 12% SYMBOL 180 \f "Symbol" 10/12 year
	 (3,600)
	
	  3,600

	
	Loss to divide
	   (400)
	
	

	
	Divide loss 50:50
	    400
	   (200)
	    (200)

	
	Distribution of income
	      0
	$10,600
	$ 13,400


Solution P15-13
1
No revaluation of partnership assets

Proposal 1. Tom purchases one-half of Peter’s capital from Peter

	
	Peter capital
	$37,500
	

	
	

Tom capital
	
	$37,500


To record Tom’s admission to the partnership for a one-fourth interest in capital and profits by direct purchase of one-half of Peter’s 50% interest. Tom’s capital credit is equal to capital transferred from Peter to Tom ($75,000 SYMBOL 180 \f "Symbol" 50%).

Proposal 2. Tom purchases one-fourth of each partners’ capital from partners

	
	Peter capital
	$18,750
	

	
	Quarry capital
	 12,500
	

	
	Sherel capital
	  6,250
	

	
	

Tom capital
	
	$37,500


To record Tom’s admission to the partnership by direct purchase of one-fourth of each partner’s capital and future profits. Tom’s capital credit is equal to the capital transferred from the other partners: ($75,000 SYMBOL 180 \f "Symbol" 25%) + ($50,000 SYMBOL 180 \f "Symbol" 25%) + ($25,000 SYMBOL 180 \f "Symbol" 25%).

Proposal 3. Tom invests cash in the partnership for a one-fourth interest

	
	Cash
	$55,000
	

	
	

Peter capital
	
	$ 1,875

	
	

Quarry capital
	
	  1,125

	
	

Sherel capital
	
	    750

	
	

Tom capital
	
	 51,250


To record Tom’s $55,000 investment for a one-fourth interest in capital and future profits. Total capital is $150,000 + $55,000. Tom’s share of total capital is $205,000 SYMBOL 180 \f "Symbol" 25%, or $51,250. Tom’s investment of $55,000 less Tom’s capital credit of $51,250 equals $3,750 bonus to old partners.

2
Partnership assets are revalued

Proposal 1. Tom purchases one-half of Peter’s capital from Peter

	
	Goodwill
	$90,000
	

	
	

Peter capital
	
	$45,000

	
	

Quarry capital
	
	 27,000

	
	

Sherel capital
	
	 18,000


To record goodwill on basis of the price paid by Tom for a one-fourth interest in capital and profits. Total capital is $240,000 ($60,000/25%). Total capital of $240,000 less recorded capital of $150,000 equals $90,000 goodwill.

	
	Peter capital
	$60,000
	

	
	

Tom capital
	
	$60,000


To record Tom’s purchase of one-half of Peter’s capital and right to Peter’s profits. 

Solution P15-13
(continued)

Proposal 2. Tom purchases one-fourth of partners’ capital from partners

	
	Goodwill
	$30,000
	

	
	

Peter capital
	
	$15,000

	
	

Quarry capital
	
	  9,000

	
	

Sherel capital
	
	  6,000


To record goodwill on the basis of the price paid by Tom for one-fourth of the capital and profits of each of the partners. Total capital is $180,000 ($45,000/25%). Total capital of $180,000 less recorded capital of $150,000 equals $30,000 goodwill.

	
	Peter capital
	$22,500
	

	
	Quarry capital
	 14,750
	

	
	Sherel capital
	  7,750
	

	
	

Tom capital
	
	$45,000


To record Tom’s admission to a one-fourth interest in partnership capital and profits. Tom’s capital is equal to the capital transferred after revaluation: ($90,000 SYMBOL 180 \f "Symbol" 25%) + ($59,000 SYMBOL 180 \f "Symbol" 25%) + ($31,000 SYMBOL 180 \f "Symbol" 25%).

Proposal 3. Tom invests cash in the partnership for one-fourth interest

	
	Goodwill
	$15,000
	

	
	

Peter capital
	
	$ 7,500

	
	

Quarry capital
	
	  4,500

	
	

Sherel capital
	
	  3,000


To record goodwill based on Tom’s investment of $55,000 for a one-fourth interest in partnership capital and profit. Total capital of $220,000 - ($150,000 recorded capital + $55,000 investment) = $15,000 goodwill.

	
	Cash
	$55,000
	

	
	

Tom capital
	
	$55,000


To record Tom’s $55,000 investment for a one-fourth interest in capital and profits. Total capital = $220,000; Tom’s capital is $220,000 SYMBOL 180 \f "Symbol" 25%, or $55,000.

Solution P15-14

1
Average capital balances

	
	Timmy
	
	Lassie
	

	
	$60,000 SYMBOL 180 \f "Symbol" 3 months = 
	$180,000
	$75,000 SYMBOL 180 \f "Symbol" 4 months =
	$300,000

	
	 70,000 SYMBOL 180 \f "Symbol" 5 months = 
	 350,000
	 63,000 SYMBOL 180 \f "Symbol" 6 months =
	 378,000

	
	 64,000 SYMBOL 180 \f "Symbol" 4 months = 
	 256,000
	 57,000 SYMBOL 180 \f "Symbol" 2 months =
	 114,000

	
	
	$786,000
	
	$792,000

	
	$786,000/12 months = 
	$ 65,500
	$792,000/12 months =
	$ 66,000


	2
	
	 Timmy 
	 Lassie 
	 Total 

	
	Beginning balances
	$ 60,000
	$75,000
	$135,000

	
	Add: Investments
	  10,000
	      0
	  10,000

	
	Less: Withdrawals
	  (6,000)
	(18,000)
	 (24,000)

	
	Less: Drawings
	 (18,000)
	(24,000)
	 (42,000)

	
	Net contributed capital
	  46,000
	 33,000
	  79,000

	
	Add: Net income (see schedule)
	  54,600
	 48,400
	 103,000

	
	Ending capital balances
	$100,600
	$81,400
	$182,000



Schedule of income allocation:

	
	
	
	 Timmy 
	 Lassie 

	
	Net income to allocate
	$103,000
	
	

	
	Salary allowances
	 (42,000)
	$18,000
	$ 24,000

	
	Remainder to divide
	  61,000
	
	

	
	Divided 60 - 40
	 (61,000)
	 36,600
	  24,400

	
	Income allocation
	       0
	$54,600
	$ 48,400
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